Math 21

Test 4, (11.1 – 11.8) (2006)
Name ________________________

Part I: Calculators allowed 

Always show enough work to show how you arrived at your answer.  If work is not shown, you may not earn full credit for the problem.  The point value of each problem is given on the right.

1.
a.
Find an integer N such that the partial sum 
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 approximates the limit of the p-series 
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 within 0.0001.
(12 pts.)


b.
Use this value of N to estimate the sum of the series 
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(4 pts.)
2.
Suppose 
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 is a power series that converges at x = 7 and that diverges at x = (2.  Circle T if the statement must be true, F if it must be false or I if it could be true or false.
( 2 pts. each)


a.  
The series converges at x = (7.

T

F

I


b.  
The series converges at x = 1.

T

F

I


c.  
The series converges at x = 8.

T

F

I


d.  
The series converges at x = 2.
T
F
I
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3.
a.
Show that the series 
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 converges absolutely.
(12 pts.)


b.
Find upper and lower bounds for the limit of the series 
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(4 pts.)

4.
Complete the definition for convergence of a series:
(4 pts.)


A series 
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 converges to a limit S if 
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Math 21

Test 4, (11.1 – 11.8)  (2006)
Name ________________________

Part II: NO Calculators allowed 

5.
Consider the sequence 
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(3 points each)

a.
Write an expression for the general term, 
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b.
Evaluate 
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c.
Does the sequence converge?  If so, find the limit.  If not, explain.

d.
Does the series 
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converge or diverge?  Explain.
6.
Consider the series 
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(4 points each)

a.
Find S2 and S3. 


b.
Find R2 and R3. 
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7.
Determine whether or not each series converges.  Justify each answer.
(6 pts. each)


a.
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b.
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c.
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d.
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8.
Find the interval of convergence for 
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(12 points)
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